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Rearrangement of Sentence Questions for LIC AAO, SBI
PO Pre, IBPS PO Pre, SBI Clerk Mains and IBPS Clerk
Mains Exams.

Rearrangement of Sentence 13

Directions: In this question, a sentence has been divided into 5 parts. The part
given as bold is the starting fragment of the sentence. You need to rearrange
the rest of the parts in a meaningful sequence and choose the option that gives
the correct sequence.

1. to those aggrieved (A)/ the Supreme Court has now extended some
concessions (B)/ which aimed to revamp cricket administration in the country (C)/
by the rigorous rules. (D)/ Two years after accepting the Justice R. M. Lodha
Committee’s recommendations

A. BADC B. ACBD C. ABCD D. ADBC
E. CBAD

2. Prime Minister Narendra Modi’s announcement on Independence Day that
Ayushman Bharat / will be launched formally on September 25 sends out the
signal that the government (A) / is finally recognising the link between (B) / or the
national Health Protection mission (C) / health care and economic development
(D)

A. CADB B. ACBD C. ABCD D. ADBC
E. CABD

3. lay crippled as the circle of destruction widened (A) / with the state tottering
under (B) / submerged by floodwaters, cities & villages (C) / the worst floods in its
history (D) / A resurgent monsoon brought Kerala to its knees on Wednesday.

A. CABD B. ACBD C. BDAC D. ADBC
E. BADC



4. an ideological campaign against state’s role (A) / thereby setting the tone for
reducing (B) / To open the space for different forms of privatisation and
financialisation, / was necessary, and it successfully demonised the state, (C) /
state’s responsibility towards its citizens. (D)

A. DCBA B. ABDC C. ACBD D. BCDA
E. CDAB

5. those who are on the wrong side of caste, religion and ethnicity (A) / articulate
an intersectional politics of hope that insists (B) / Now that the LGBTQ persons
are formally being called / on forms of emancipation that do not exclude (C) /
into full-fledged sexual citizenship, how does the queer movement? (D)

A. DBCA B. ADBC C. BDCA D. CDAB
E. None of the above

6. they naturally attract a huge number of, (A) / Since the competitive
examinations are necessary / few hundred or a-few thousand seats (B) /
candidates who compete only for a (C) / to ‘acquire entry ‘into the distinct
destinations. (D)

A. CDAB B. DCAB C. ABDC D. DACB
E. None of the above

7. workable, and wild animal (A) / to be widely disseminated (B) / Crop and
livestock insurance schemes / avoidance behaviour needs (C) / need to be made
friendly and. (D)

A. DCBA B. DACB C. ABDC D. ADBC
E. CADB

8. “Man-eating” leopards have been / conclusive identification processes (A) / on
earlier occasions, (B) / but without demonstrating any (C) / shot in Himachal
Pradesh and Uttarakhand. (D)

A. DCBA B. DBCA C. ABDC D. ADCB
E. None of the above



9. history of the minority opinions in (A) / having been right all along (B) / getting
recognised much later as (C) / India’s Supreme Court has had a / important
fundamental rights cases. (D)

A. BCDA B. CABD C. ADCB D. DCAB
E. BDCA

10. involving 38 days of final hearings, and has finally ended in (A) / of Aadhaar
settles too few questions on the matter (B) / the Supreme Court’s final verdict on
the validity (C) / For a case that has been litigated over the last six years / three
judgments totaling 3.5 lakh words (D)

A. BCAD B. CADB C. ADCB D. DBAC
E. CDBA

Correct answers:

Explanations:

1. 1% fragment :
Two years after accepting the Justice R. M. Lodha Committee’s recommendations
It is followed by the fragment B.

Key word is "After accepting recommendations'

Connectors :

Bto A
the Supreme Court has now extended some concessions(B)
to those aggrieved by(A)

AtoD
to those aggrieved (A)
by the rigorous rules (D)

Fragment C will come in end.

Option B is hence the correct answer.



1° fragment :

Prime Minister Narendra Modi’s announcement on Independence Day
that Ayushman Bharat.

Clearly, the fragment "C’ follows after 1** fragment.
In fragment C,it mentions national Health Protection mission.

Which is the another name of Ayushman Bharat (one can guess it from the given
paragraph). Only fragment C talks about Ayushman Bharat.

Clearly, the fragment "C’ follows after 1*' fragment.
Connectors

CtoA
or the national Health Protection mission (C)
will be launched formally on September 25 sends out the signal that the government (A)

AtoB
will be launched formally on September 25 sends out the signal that the government (A)
is finally recognising the link between (B)

Fragment D will come in last.

Option E is hence the correct answer.

1* fragment

a resurgent monsoon brought Kerala to its knees on Wednesday.
It follows the fragment B. key word is “state tottering'

Connectors —

BtoD
with the state tottering under( B)
the worst floods in its history(D)

Connectors —

DtoA
the worst floods in its history(D)
lay crippled as the circle of destruction widened (A)

Fragment C will come in end.
Option Cis hence the correct answer.



The first fragment
To open the space for different forms of privatisation and financialisation,

It should be followed by something that defines the course of action that should be
taken in order to open the space for privatization. Among the given fragments, only A
can come since it gives the course of action for minimizing the role of the state in the
country. A should come after the first fragment of the sentence.

Connectors:

Aand C:

A: an ideological campaign against state’s role

C: was necessary, and it successfully demonised the state

Cand B:
C: was necessary, and it successfully demonised the state
B: thereby setting the tone for reducing

Only D is left to complete the statement which ends with the present status of private
sector in the development since the role of the public sector has been minimized. This
makes the correct sequence of fragments as: ACBD

So, option Cis the correct choice among the given options.

The first fragment
Now that the LGBTQ persons are formally being called

It should be followed by the details regarding the perception regarding the LGBTQ
persons in the society. Among the given fragments, only D can come after this since it
takes into consideration the status of the community in the society at present. It should
follow the first fragment.

Connectors:

D and B:

D: into full-fledged sexual citizenship, how does the queer movement
B: articulate an intersectional politics of hope that insists

B and C:
B: articulate an intersectional politics of hope that insists
C: on forms of emancipation that do not exclude

Only fragment A is left to complete the statement which ends with the question
regarding the future of the LGBTQ movement in the country in the light of the present
situation of the community in the society.

The correct sequence of fragments is: DBCA
This makes option A the correct choice among the given options.



The first part of the sentence is:
Since the competitive examinations are necessary

The following part should give an idea regarding the necessity of the competitive
examinations in the country and also the usefulness of such exams in the country. Only
fragment D can be used here to indicate that the competitive exams are necessary in
order to get entry into various disciplines.

Connectors:

D and A:

D: to acquire entry into the distinct destinations
A: they naturally attract a huge number of
AandC:

A: they naturally attract a huge number of

C: candidates who compete only for a

Only B is left in order to complete the statement as it gives an idea regarding the
importance of competitive examinations and the destinations of these examinations in
the country.

That makes the correct sequence fragments as: DACB

Hence, option D is the correct choice among the given options.

The first fragment of the statement is
Crop and livestock insurance schemes

This should be followed by the details regarding the crop and livestock insurance
schemes of the country or the requirement of such schemes to change so that they
become more useful and effective. Fragment D can be used here in order to imply that
the crop and livestock insurance schemes need to be workable and friendlier for the
insured so that they may get their claims on time.

Connectors:

D and A:

D: need to be made friendly and
A: workable, and wild animal

AandC:
A: workable, and wild animal
C: avoidance behaviour needs

Only B is left to complete the statement since that gives the complete information
regarding the course of action suggested by the author in the statement.
That makes the correct sequence of the fragment as: DACB

This makes option B the correct choice among the given options.



The first part of the sentence is
“Man-eating” leopards have been

It should be followed by some information regarding such animals or something
regarding the killing of such animals in the country. Only D can come here after the first
fragment since that describes that killings of such animals took place in certain states of
the country.

Connectors:

D and B:
D: shot in Himachal Pradesh and Uttarakhand
B: on earlier occasions,

B and C:
B: on earlier occasions,
C: but without demonstrating any

Only A is left to complete the statement and it is regarding the issue with the killing of
the tigers without any proper identification in this regard. This makes the proper
sequence as: DBCA

This makes option B the correct choice among the given options.

The first fragment:
India’s Supreme Court has had a

It should be followed by the description regarding what the Supreme Court has in the
country and among the given fragments, A can come after the first part since it talks
about the history that the Supreme Court has regarding various judgments concerning
fundamental rights cases in the country.

Connectors:

A and D:
A: history of the minority opinions in
D: important fundamental rights cases

D and C:
D: important fundamental rights cases
C: getting recognised much later as

Only B is left that can come at the end of the statement as that describes the history of
the SC regarding its minority judgments. This makes the proper sequence of fragments
as: ADCB.

This makes option C the correct choice among the given options.



10.

The first part
For a case that has been litigated over the last six years

It should be followed by something that further describes the significance of the case or
else something that can talk about the decision of the apex court in this regard. Only A
can come after that since it describes that the Aadhaar hearing took place for 38 days.

Connectors:
A and D:

A: involving 38 days of final hearings, and has finally ended in
D: three judgments totaling 3.5 lakh words

D and C:
D: three judgments totaling 3.5 lakh words
C: the Supreme Court’s final verdict on the validity

Only B is left to complete the statement since it describes the opinion of the author
regarding the verdict given by the apex court in the matter.

The correct sequence of fragments is: ADCB

This makes option C the correct choice among the given options.



N 7

—é SmartKeeda

= The Question Bank

U¥qd HYd ®

TestZone
TR P Fa9 fFHrRr e diNrel

oy

12 Month Plan
2018-19 All Test Series

= 399/-

300+ el o] T

o o fdgeiyor
M Icpee fawg Al

M_EJR?H

3raft o8

S
P >
| R
|| N
\\\ ==
|\LZ=
|2

4
\ 4


https://testzone.smartkeeda.com/Test/Pricing

